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Instructions :

The question paper has 36 questions in all. All questions are compulsory.

Marks are indicated against each question.

This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.

In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
An additional 15 minutes time has been allotted to read this question paper only.
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PART -1

Which one of the following did not travel along the silk routes in the pre-modern
world ?

Christian missionaries

Traders.

Tourists.

Muslim preachers.

OR

The introduction of which new technology in England angered women ?
(a) The spinning jenny.
(b) The underground railway.
() The steam engine.
(d) None of these.

OR

In the novel Debganer Martye Aagaman (The Gods Visit Earth) the Gods were so
impressed by Calcutta that they decided to build which of the following in heaven ?

(a) A factory.
(b) A bridge.
(c) A monument.

(d) A museum.

Which one of the following is a Nobel Prize winning writer who is a descendent of
indentured labour from India ?

(a) Salman Rushdie.
(b) V. S. Naipaul.
(c) Arundhati Roy.
(d) Bob Marley.
OR
Which pre-colonial port connected India to the Gulf countries and the Red Sea ports ?
(a) Bombay.
(b) Hoogly.
(c) Surat.
(d) Machhalipatanam.
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What was Chartism a movement for ?
(a) Equal pay for equal work.

(b) For adult male franchise.

(¢) Limited hours of work.
(

d) For women franchise.

The printing press was first introduced in India by which one of the following ?
East India Company officials.
Indian reformers.
Portuguese missionaries..
Arabic traders.
OR
What was the title of the first modern novel published in Malayalam ?
Muktamala.
Indulekha.
Chandrakanta.
Pariksha-Guru.

Which of the following was the first book printed by Gutenberg ?
(@) The Diamond Sutra.
(b) Chapbook.
(c) Grimms’ fairytales.
(d) The Bible.
OR

Which of the following is an epistolatory novel in which much of the story is told
through an exchange of letters ?

(a) Pickwick Papers.
b) Pamela.

(
(¢) Emma.
(

d) Jane Eyre.

In which of the following states is overgrazing responsible for land degradation ?
(a) Jharkhand and Orissa.

(b) Madhya Pradesh and Rajasthan.

c¢) Punjab and Haryana.

(d) Kerala and Tamilnadu.
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Which community in India is famous for protecting the black buck ?
(a) Dogras.

(b) Santhals.

(c) Bishnois.

(d) All of above.

Which one of the following is not an adverse effect of dams ?
(a) Interstate water disputes.

(b) Excessive sedimentation of Reservoir.

(c) Displacement of population.

(d) Flood control.

Which one of the following is the feature of plantation agriculture ?
(a) Single crop.

(b) Large area.

() Produce raw material for industries.

(d) All of the above.

‘Sri Lankan Tamil” refers to which of the following ?

a) Tamil Muslim.

b) Tamil native of the country.

c¢) Tamil whose forefathers came from India in the colonial period.
d) Tamil Hindu.

(
(
(
(

Which of the following languages is not spoken in Belgium ?
(a) French.

(b) Dutch.

(c) Danish.

(

d) German.

Which of the following country is not an example of ‘holding together” federations ?
(a) USA.

(b) Spain.

(c) India.

(d) Belgium.
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In which of the following are one third of the seats reserved for women in India ?
(a) Lok Sabha.

b) State Assemblies.
c¢) Government jobs.

(
(d) Panchayats.

Which one of the following is not a measure of development in the Human Development
Report of the UNDP ?

(@)
(b) Educational Levels of the people.
(c) Body Mass Index.

Per capita income in US $.

(d) Life Expectancy at Birth.

In which state in India is the infant mortality rate lowest ?
(a)
(b) Bihar.
(c) Uttar Pradesh.
(d) Punjab.

Kerala.

Public enterprises are owned by :

(a) Individual owners.
b) Government.
c) Both government and individual.

d) None of the above.

Disguised Unemployment means a situation where people are :

(@) Unemployed.

)
(b) Employed but earning less salary.

(c) Employed but productivity is nil.
(d) Unemployed for a short period of time.
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PART -1I

Give three examples to show that the world changed with the discovery of new sea
routes to America. 3x1=3

OR

What is meant by proto industrialization ? Why was it successful in the countryside in
England in the 17th century ? 1+2=3

OR

How did the people of all classes entertain themselves in their leisure time in Urban
Britain after industrialisation ? 3x1=3

What is a manuscript ? Give four shortcomings of manuscripts. 1+2=3
OR

What changes in nineteenth century Britain does Charles Dickens write about in his
novels ?

What was the attitude of people in India in the nineteenth century towards women
reading ? How did women respond to this ? 2+1=3

OR

Name one famous woman novelist in 19th century England. Describe the different
ways in which women novelists portrayed women. 1+2=3

How did print culture contribute to the growth of nationalism in India ?

OR

Premchand’s novels were filled with powerful characters drawn from all levels of society.
Give 2 examples from his writings to explain this statement. 1Y2+1Y>=3

Differentiate between stock resources and reserves. 112+1%2=3
Give three reasons why we need to save the biodiversity of our planet ?
Describe three traditional methods of rain water harvesting practiced in India. 3x1=3

Explain the two main reasons why power sharing is important in a democracy. 1%2+1%2=3

Discuss the three factors which are crucial in deciding the outcome of politics on social
divisions. 3x1=3
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“We all have more than one identity and can belong to more than one social group”.
Discuss the statement with suitable examples.

Give three examples to show that women are still discriminated against in India. 3x1=3

What do you mean by public facilities ? Why are they important ? Name two public
facilities available in India. 1+1+1=3

Why is sustainability important for development ? Give two suggestions to achieve
sustainability of development. 2+1=3

‘Economic activities, though grouped into three different categories, are highly
interdependent.” - Discuss.

What is NREGA ? What are the important features of NREGA ?

What was the impact of the Great Depression of 1929 on the Indian economy ?

OR

Give reasons why the handloom weavers in India survived the onslaught of the machine
made textiles of Manchester ? 2+2=4

OR

Give four reasons for the expansion of Bombay’s population in the nineteenth century.1x4=4

Differentiate between the kharif and rabi crops.

What are the differences between a federal form of government and a unitary one ?
Explain. 2+2=4

Which sector has emerged as the largest producing sector in the Indian economy in the
last decade ? Give reasons. 1+3=4
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36. Three features with serial number 1 to 3 are marked on the given political outline map
of India. Identify these features with the help of the following information and write
their correct names on the lines marked on the map. 1x3=3

(1) Soil Type
(2) Type of forest
(3) Leading rice producing state
OR

Locate and label the following items with appropriate symbols on the same map :

Sardar Sarovar Dam
Corbett National Park

The largest jute producing area

The following question is for the visual impaired candidates only, in lieu of
Q. No. 36.

Name a state where black soil is found.
Name the river on which the Sardar Sarovar Dam is located.

Name the state which is the largest producer of jute.
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T - I
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frefafigd 9 9 ffe 3 9a § 99 vgd f3fdn 99 =t g&sta &t ?
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frefafed § @ =@ S0 (dig) =1 g9E T8 € 2
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T STTEXT TR T foh SRR M Tt T gt Tt i G o o1E a9 § seeld 31 ?
3x1=3
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Od W FINT foht S oTet ©4 991 ST TUEYT & diF IR dleh] 1 9019 HifsT |
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AT
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TU® SR & 1 FEA § TR T HIFST

T 3R THTHS ThR hi THR | F7 TR & 2 TIF Hify |
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(1)  H<T 1 TR
(2) ¥ H THR
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3AUqAT
fou gu wmfed W & frefafed 1 sisd o) 3ugs Sl § ST M fara :
(a) TER TR <
(b) e LA 3TM
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e ; Frafafaa g Foa gfieafa wdenfi & fou g wuiw 36 #1 fawed 71
(1) TR T &1 W fAfe swel et gar awE S § )
2) =8 7 %1 T fafey 58 ) wEr w8 g fem gl

(3) 39 T F M fafau T 2 # caed Afywad B ¥
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